Some policies
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imal policy:
0.81210.868 | 0.918 | +1
0.762 0.660| —1
0.705]0.655 | 0.611 | 0.388




Value Iteration
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0.75310.860 | 0.916 | +1
0.606 0.655| —1
0.370 1 0.409 | 0.525 | 0.267
0.78410.865|0.917| +1
0.684 0.658 | —1
0.52210.462 | 0.552 | 0.307
0.79910.867{0.918 | +1
0.724 0.660 | —1
0.605 | 0.494 | 0.564 | 0.332
0.806 | 0.867|0.918 | +1
0.744 0.660 | —1
0.649 | 0.543{0.570 | 0.344
0.809{0.868|0.918 | +1
0.753 . 0.660 | —1
0.674 | 0.588 | 0.577 | 0.351
0.810{0.8680.918 | +1
0.758 0.660 | —1
0.689(0.617{0.582|0.356

— | = +1
1 ~1
T = —

— | - +1
1 . ~1
T = —

- | - +1
1 . -1
T |« —

- | - +1
1 . ~1
1| —

— | = +1
1| —

- | - +1
1 -1
1| —




0.811{0.868|0.918 | +1
0.760 0.660 | —1
0.697 | 0.634 | 0.586 | 0.361
0.811]0.868|0.918 | +1
0.761 0.660 | —1
0.701 | 0.644 | 0.592 | 0.365
0.811]0.868|0.918 | +1
0.761 0.660 | —1
0.703{0.650 | 0.601 | 0.370
0.812]0.868|0.918 | +1
0.761 0.660 | —1
0.704 1 0.652 | 0.606 | 0.378
0.812]0.868|0.918 | +1
0.761 0.660 | —1
0.705 | 0.654 | 0.609 | 0.382
0.812]0.868|0.918 | +1
0.762 0.660 | —1
0.705 | 0.655 | 0.610 | 0.385
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0.812]0.868 | 0.918 | +1
0.762 0.660 | —1
0.705 | 0.655 | 0.611 | 0.386
0.812]0.868|0.918 | +1
0.762 0.660 | —1
0.705|0.655 | 0.611 | 0.387
0.812]0.868|0.918 | +1
0.762 0.660 | —1
0.705{0.655 | 0.611 | 0.388
0.812]0.868|0.918 | +1
0.762 0.660 | —1
0.705 | 0.655 | 0.611 | 0.388
0.812]0.868|0.918 | +1
0.762 0.660 | —1
0.705(0.655{0.611 | 0.388
0.812]0.868|0.918 | +1
0.762 0.660 | —1
0.705(0.655|0.611 | 0.388
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Policy Iteration
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-1.400{-1.000|-0.200| +1
-1.450 -0.333| —1
-1.466(-1.196|-0.525|-0.992
0.812]0.868 |0.918 | +1
0.762 . 0.660 | —1
0.508 | 0.527 | 0.577 | 0.357
0.81210.868|0.918 | +1
0.762 . 0.660 | —1
0.691 | 0.527|0.577 | 0.357
0.812]0.868 |0.918 | +1
0.762 . 0.660 | —1
0.705]0.655|0.591 | 0.370
0.812]0.868 |0.918 | +1
0.762 . 0.660 | —1
0.705{0.655]0.611 | 0.388




